RBINIAV R —EEER 2021438178 0K)

JIE 52 K 2 ouT IN GROSS HDCP NET B& [[ERivd K % ouT I N GROSS HDCP NET &%
B T F &£ B 34 35 69 104 586 | % 61 I H B = 40 41 81 15.2 65.8

2 e % R 33 32 65 5.6 594 | % 62| E H B F 44 43 87 212 65.8

3 F KB R 39 31 70, 104 506 | & 63 & LOA 40 34 74 8.0 66.0

4 N E X 42 36 78 17.6 604 64 5 B B X 43 48 91 248 66.2

5 X # E = 39 35 74 128 612 | &4 65 2 H FIE 44 M 85 188 66.2 |
6 xEH OEFER 36 38 74| 128 612 | &4 66 woFH 5h 38 34 72 5.6 66.4

7 wE R B 42 36 78 16.4 616 67 WA BEF 50 40 90 23.6 66.4

8 ¥} O f i 40 42 82 20.0 620 68 X # 4 48 42 90 236 66.4

9 SO - (S 40 41 81 18.8 622 | % 69 | W IF M A 49 41 90 236 66.4

10 oHE R F 42 38 80 17.6 624 4 70 ## B 8 B 35 36 7 44 666
11 B B B 38 35 73 10.4 62.6 71 EIEE 45 43 88 21.2 66.8

12 B g g 42 43 85 224 62.6 72 X & & 8l 46 42 88 212 66.8

13 R & & & 34 39 73| 104 62.6 73 b N EF 45 37 82 15.2 66.8

14 W o #% = 36 37 73 10.4 62.6 74 + % B F 41 40 81 14.0 67.0

15 FRE =i 44 40 84, 212 628 X 75 £ # =2 39 42 81 14.0 670 %
16 nm % = 41 37 78 15.2 62.8 76 # &z 47 45 92 24.8 67.2

17 1 @ I 39 38 77 14.0 63.0 77 N F OE X 43 37 80 12.8 67.2

18 AXFH 5 42 35 77 140 63.0 78 B R &M 48 44 92 2438 67.2

19 B H E — 42 47 89 260 63.0 79 | % H i 51 46 97 296 67.4

20 F A ¥ X 36 M4 77 140 630 | % 80 | Bk EF B 37 42 79 11.6 674 | 4
21 FARAHM 2 39 38 77 14.0 63.0 81 # & E T 45 46 91 23.6 67.4

22 K % E B 38 45 83 20.0 63.0 82 S H EF =2 47 48 95 27.2 67.8

23 b ® A 36 40 76 128 63.2 83 I 43 44 87 18.8 68.2

24 MAEZEA 36 34 70 6.8 63.2 84 | = B E K 47 40 87 18.8 68.2

25 K # ah 39 36 75 11.6 634 | X4 85 n e E z 48 43 91 22.4 686 | %
26 A#H KR E 38 37 75 116 63.4 86 ®HmE A 45 45 90 21.2 68.8

27 7 I % X 39 36 75 11.6 63.4 87 X % # 8 46 54 100 30.8 69.2

28 F K SF 40 40 80 164 63.6 88 | ik A2V 47 46 93 23.6 69.4

29 Z HE F 44 42 86 224 63.6 89 | # ¥ om R 44 41 85 15.2 69.8

30 n % F—- 36 37 73 9.2 638 | % 90  ® & M F 51 52 103 332 69.8 | 4
31 W H % E 40 39 79 15.2 63.8 91 MHBEAE 41 41 82 11.6 70.4

32 I B F A 43 42 85 212 63.8 92 f& 5k i 1 49 50 99 28.4 70.6

33 & M iy 38 41 79 15.2 63.8 93 IR B — 46 52 98 27.2 70.8

34 N B =1 36 36 72 8.0 64.0 94 /N B 5 40 45 85 140 71.0

35 = W — 41 49 90, 26.0 640 95 wKE X & 45 38 83 11.6 74 %
36 INR LN LF 39 38 77 12.8 64.2 96 ¥ O s 5 48 51 99 27.2 71.8

37 B A E R 46 43 89 24.8 64.2 97 + R X B 50 42 92 20.0 72.0

38 BmaEs BR 47 42 89 248 64.2 98 5k EIEF 44 48 92 20.0 72.0

39 R E = 41 41 82 17.6 64.4 99 E A F 42 49 91 18.8 72.2

40 Bk M & = 45 37 82| 176 644 | % 100 W H % A 38 47 85 128 722 | X
4 2 i1 & BH 44 44 88| 236 64.4 101 £ T #1 B 66 42 108/ 356 72.4

42 = H B E 48 39 87 224 64.6 102 @ & = 47 48 95 22.4 72.6

43 & B s5h AR 44 48 92| 272 64.8 103| KFH *F 57 50 107 344 72.6

44 T+ B #% — 49 37 86 21.2 64.8 104 2R A A 44 56 100 27.2 72.8

45 % B T R 37 37 74 9.2 648 | X4 10| £ A £ #@ 54 53 107 33.2 738 | &
46 INKE J\ BB 35 37 72 6.8 65.2 BB g ®EETF 48 47 95 21.2 738 | %
47 =z BN E 38 40 78 12.8 65.2 107 &R F8F 54 73 127 35.6 91.4

48 fim B O B 44 40 84| 188 65.2

49 | H H E H 44 34 78] 128 | 652 ELA—IL @6 ® D ® @ J 0@ @ @ (@ @

50 E = 46 43 89| 236 654 | %

51 Hx & 39 38 77| 116 654 [2A4>F¥L] 3K

52 = M IE i 39 38 77 116 65.4

5| K% i 50 45 95| 296 654 [=7E>])

54 )l B W 42| 40 82| 164 656 No4 B¢ A H X No.12 # W& 45 =

55 Il R & 39 43 82 164 656 = | No7 B AR M X No.18 #1 H #F &

56 7 B F — 43 39 82 164 65.6

57 | BT B E # 36 40 76/ 104 65.6 [(RZRRTBR]

58 =l E R 39 42 81 15.2 65.8 G65 TH il

59 FE O3S ® 44 43 87| 212 65.8

60| H ® % F 48] 45 93| 272| 658 3| sERCOVTHEEBEOAND2ELUNCZRESNGHSE, BIENSEILES




